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11 sol(11l n,11 d,vi v){
11 ans=0,n=v.size();
for(1ll i=n-2;i>=0;i--)if(v[i]>v[i+1l]){
11 k=(v[i]-v[i+1]+d-1)/d;
ans+=Kk;
v i]|-=k*d;

}
if(v[O]<0)return -1;

return ans;

)
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vi sol(11l n,11 g,vi v,vvp query){

vi ans(q),rui(n+l);

rep(i,n)rui[i+l]=rui[i]+v[i];

vp st;st.pb(-1,0);

rep(i,n){
while(st.size()>1&&v[st.back().fi]>=v[i])st.pop_back();
st.pb(i,st.back().se+v[i]*(i-st.back().fi));
for(auto x:query[i]

11 idx=1b(st,P(x.fi,-inf));
ans[x.se]=st.back().se-st[idx-1].se-v[st[idx].fi]*(x.fi-1-st[idx-1].fi);
ans[x.se]=rui[i+l]-rui[x.fi]-ans[x.se];

}

return ans;
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for(1ll i=n-2;1>=0;1i--){
if(a[i]>=a[i+l])v[i]=v[i+1l]+(a[i]-a[i+1]+d-1)/d;

else v[i|=v[i+l]|-(a[i+1l]-a[i])/d;
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